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1 [desEARA 48.9| A H 222| B F 100.0{ =2 Hr 1.08|#AJ11ET 50.0[#24) 11 BT 0.0
2 |IEs 36.4|#ahH 8.5|FEAK 100.0{ L4t 0.85|{E R8T 33.3|{E AT 0.0
3 AR 35.8| 5L+t 48[4 100.0| 8RB R4 0.58| iz 4t 33.3| I Ht 0.0
4 |t 34.9|F5AKt 4.2| FRigEAS 100.0| Fasstt 0.48| B RB R 33.3| HIRRRF 0.0
5 | ATEET 31.4[1L/PET 4.0t EHET 100.0| 04X FH ET 0.44|/NgETH 27.3|negm 0.0
6 |=7RET 28.9[#AA T 39| BBt 100.0| @& 0.36|fAA ™ 25.0|f@ A 0.0
7 |li/RET 28.5|2 KAt 38|/hBFt 100.0|/Ng&T 0.35| Bg4At 20.0| matAt 0.0
8 |+EmH 27.6| %44 34| LA 100.0| AR 0.34| R B ET 20.0 %% EET 0.0
9 | KEH 27.0| mRiEA 3.3| matkat 100.0|#J1IBT 0.28| 20.0|E 0.0
10 |G Ra BT 26.9|/NEHERT 33[AEH 100.0| 1L/ RET 0.22| BRI 18.8| Ak 0.0
11 |/NiBHT 26.0| 5t FHET 3.3| T 100.0[ 3R s BT 0.22| 3R T 12.5| 3R 3gET 0.0
12 | R}EEHR 25.7|{ERAET 3.2|ERAt 100.0| E#RET 0.20| = &EH 10.3| REBFHH 0.0
13 |#RBH 25.4[1RFF 3.1|hEHm 100.0| 8 HRET 0.14| E#mET 9.1 | EshET 0.0
14 |FEARBET 24.8| ™ EH 3.0| @At 100.0| F 0.14| @ 7.7| L@A® 0.0
15 | &F0ET 23.9|tE R 2.8[J11 4t 100.0| FHBTH 0.13| A8 6.8 FHBTH 0.0
16 |BFRB RN 23.3| R #ET 2.8|HIRBRA 100.0[#E R 0.13| 82 HIRET 6.3 B2 R ET 0.0
17 | KRB 22.7| REHT 2.7 | 3RIBET 100.0[# % 0.1 1] 1L/PeET 5.6 1L/ RET 0.0
18 | EHART 22.5|8/7 4R 2.7 (R B ET 100.0| R EFH 0.10|¥ % 51| FHH 0.0
19 | RABEH 221 /NAKE 2.6[/M11# 100.0| e 0.09|tE R 45| RM 0.0
20 |FmEHT 21.9| WAt 25| KFEHR 100.0| LA 0.09| & 45| RE™H 0.0
21 | AR 21.4| B4 24|Aam 100.0| R 0.08|gxE™ 4.2|8R AT 0.0
22 | K 21.4| matAt 24| T 100.0| EBH 0.07| & 24| hHH 0.0
23 | REBHET 21.3|B B+ 24| EHART 100.0[ B 0.05|#AZ 1.2[#AA T 0.0
24 |=@EH 21.1| = HEA 2.3|/NERT 100.0|FAA T 0.05|ah 1.3 0.0
25 |[/NBH 211 [#EAT™H 23| AFERT 100.0[ &4t 0.00| A+ 0.0| R+ HARREL
26 |)IH 20.2| E#mET 2.2|#)11F 100.0[FE A4t 0.00|F5 A+t 0.0|F8ARK HARREL
27 | REET 20.1 |82 R ET 2.2| RANET 100.0( 34+ 0.00 4+ 0.0| %4 PagRAEL
28 | AR 20.0|#: % T 22| JIIFt 100.0| FRfEAS 0.00| FrigE#t 0.0| mridi#t PARRAEL
29 [£iR#t 20.0|¥ % 2.1 | P A 100.0| ;th FRET 0.00|;th FHET 0.0| 3t B ET PARRAEL
30 |/MIF 19.5| 4 3RAF 20[z8# 100.0|#2H4f 0.00| R P+t 0.0[#R B+t HARREL
31 [FE#H 19.4|8RE T 2.0| LRI BT 100.0[/h &4t 0.00|/NA+F 0.0/~ &4t HaRREL
32 [EEH 19.4| R B 20[FEAH 100.0[ B &4t 0.00| B &+ 0.0|H&EH HARREL
33 SR SHT 19.2| B WAt 1.9| R 97.8| 43R4t 0.00| 43R 4¢ 0.0| £t HARREL
34 |SRHmET 18.6|fFHBTH 1.9| REFET 94.7|= lLFt 0.00| &= At 0.0|& it HARREL
35 |ZHm™ 1841l E4F 1.8[i&R™ 90.9|JII L4 0.00JIl L& 0.0|JIlE#F MARREL
36 |#3)I1ET 18.4| B3k 1.8|FFH 90.9| ik ST 0.00|fR &HT 0.0[8R 58T MNAFEREL
37 |®FHIRET 18.3| B iRBRA 1.8| SR AmAET 88.9[/INIIFF 0.00)/IM 1%t [OXe] ISIIE S HARRBL
38 |REH 18.3|3RIFET 1.7| L@ 87.2| KEH 0.00| K Z+F 0.0| K E#t PaRRAEL
39 [f##BH 18.1|BR SET 17|28 54 85.7| F AT 0.00| F gl 0.0| T HARREL
40 | FEREHET 18.1|RE M 1.7 R+ 85.7| L HART 0.00| E#ART 0.0| _E#ART PaERAEL
41 |FE#R 18174 1.6| ™ &K ET 85.7|/INBHT 0.00[/INBRT 0.0{/1ipHT HaRREL
42 |54t 18.1|=E L RET 1.6 /N HEET 83.3[1E AFEHT 0.00| 4= A F& 8T 0.0|4£ AFEET HARREL
43 |EEHR 18.0| R&FA 1.5|REFHH 82.8|#)I14f 0.00[#&) 114+ 0.0|#J1I4F PaRRAEL
44 AKX 17.8| KRER 1.5\ A 81.3| &M 0.00| &Fn&T 0.0[&#n#ET MNAFERBL
45 |E=fHm 17.7|@AH 14|44 HET 80.0[ )14 0.00| & 114 0.0| )14t PagRAEL
46 |fRE™ 17.1]| BRIl 1.4|= - RET 80.0|ms E #m#t 0.00|FE E#m AT 0.0| B E AT HARREL
47 |&R 16.4|/N\s&H 1.3 E= 80.0|8 BAf 0.00|# B 4 0.0|= 8+ PagRAEL
48 |B&EH 16.1|F e 1.3|[tEAT 76.9| 3L RET 0.00| sz #}ET 0.0| Sz &I BT HARREL
49 | AT 15.8| _EHART 1.2|¥8%H 76.9| & AKf 0.00| & A+ 0.0|FEAK HARREL
50 |#BEH 15.6| LA 1.2| ARk 75.0| REFHAT 0.00| REF BT 0.0| REFET HARREL
51 [#)IlFt 15.6| FaRaHET 1.1]/NeEH 72.7 | BRAMET 0.00| AR#HET 0.0 g T PaRRAEL
52 |Ey iR 15.4| B ARET 1.0|Ba 1R 70.0(& E4 0.00|& E 4t 00|&EH PagRAEL
53 |ZEHH 15.4| REFH 1.0|FREH™H 68.5[F+t 0.00| B4t 0.0|E+t PagRAEL
54 |RRAEF 15.4| A EET 0.9]LL/PET 66.7| T aaHET 0.00| FamahHET 0.0| F#RaHAT PagRAEL
55 | LA™ 15.1|/NfBET 09| KREFA 66.7 |/ fEET 0.00{/INfa BT 0.0|/Nfr s BT HARREL
56 |/NEETH 14.8| £ AFEET 0.9|=7HT 66.7|=+ RHET 0.00|=+RAEr 00[=LRHEr MNAFERBL
57 |SLEIET 14.0|#)114F 0.9 5Lt 50.0[E AT 0.00|#E A 0.0|4ER T HARREL
58 [ER™ 13.7|&F0ET 0.9|mAEEr 50.0|8a/7 4R 0.00(Ba/~7 1R 0.0|By/r 1R HARREL
59 |HE#mET 13.6] =14 0.9]#3)118T 50.0[ K &F 4t 0.00| K& F 0.0| KRB+ NAFERBL
60 |5dest 13.2| g E AT 0.8|#2#RAT 43.8|E7RAT 0.00| & #RET 0.0| = 7xHT PagRAEL
61 | AR 12.9|BIEE 4 0.8[{=RHT 33.3| Hde At 0.00| L4t 0.0|5dtHt PagRAEL
62 |/NFafEET 125|884 0.8 &l 25.0| AR EHT 0.00|FEAEHT 0.0[FaAEHET NAFERBL
63 [ILfiz#t 12.4| 5 0.7|#AFK 22.3|8R iU 0.00| &Rl 0.0kl HARREL
64 [EH™ 11.6| 3 RIET 0.7| T+ 0.0| FEH 0.00| &4t 0.0| FEH HARREL
65 |fEAT 111 EFARN 0.6| = A 0.0|=mA 0.00| =@+ 0.0|=EA PagRAEL
66 |Fenm 10.0|#2J1IBT 0.6 | P8+ 0.0 par 88 ¢ 0.00| fy 25 ¢ 0.0 par 88 4 PagRAEL
67 |mAATH 9.5 KB 0.4|K#Er 0.0[ KRBT 0.00| KBTI 0.0[KEr/ HARREL
68 |t FHET 95|REHN 0.0|ZRE+ ERERUL|REN 0.00| =&+ ERERUL|REN MARREL
69 |#ICHAT 8.8|BAH 0.0|BAH BREBREL|BAR 0.00|BA+ ERRUL|BAN MARREL
70 |fSRET 8.5| AfEH 0.0| AR%E+t s AEN 0.00| AR%E+t EREREL|AER MARREL
71 | KBrTh 7.6|EAAAK 0.0|FEHEAK =ERaL| BERAN 0.00|EE#EAF =EReL| AR HARREL
72 |gRiTH -1 | BT R T 0.0| prT g AT SR L| R AT 0.00| FaT g T SR L | f R AT HARREL
73 |EL RAET - REEA 0.0| KEe#t ERERaL| KEER 0.00| X g+t ERERaL| KEER MARREL
74 |EA R BN L) 0.0| X#EH ERRL| KEEA 0.00| X+t ERRL| KEEA HARREL
75 |EBH R =L 0.0| KE&HT BT} 0.00| A & &Y Lo EN-T) HARREL
76 |BAH N EER 0.0| Em#+t EEReL| B 0.00| E&+t EEReL| B HARREL
77 |$ximET N AEAAARR 0.0 dbABAK el LA AR 0.00{db4BAH el LA AR HARREL

RBEE 155 |[RHFE 23 |RBR 66.6 |REFIE 0.09|E%E 3.8 |RBE 0.0
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